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WAV A, v TRy N 68 69 69 68 67 59 70 50
I S S ./ | B 96 — — 130 — — 124
B A4 4 v R miE % A £0.02
b4 =
Yoz F 2 I Vg 1%
hia % ——— | 0.000003 | 0.000002 | 0.000004 | 0.000002 | 0.000003 | 0.000004 —
=) =
2 — A F 4 IE o
Bov 2 oF — % &
ba #l  ——— | 0.000001 | 0.000002 | 0.000002 | <0.000001 | 0.000003 | 0.000002 —
A A v R om G A <0.002
7= ] = g <0.0005
e | B = 1.7 2.1 2.6 2.2 2.5 2.5 2.4 2.0
ﬁmﬁ %%(T*fc) (,é I it 15 1.6 2.1 2.0 1.9 2.2 2.1 1.9
hia % 1.7 1.8 2.3 2.1 2.2 2.4 2.2 2.0
b4 = 8.1 8.0 8.9 8.2 9.0 9.2 8.1 7.7
p H 1B % 1% 7.8 7.8 8.0 7.6 7.7 7.6 7.4 7.4
I #) 7.9 7.9 8.4 7.9 8.1 8.5 7.7 7.6
S
7 | Bl s 5 R s 5 R B
b3 = 4.2 7.4 8.0 9.6 9.2 12 12 7.8
) 5% s 3.3 3.8 3.8 5.7 4.3 3.8 5.8 6.7
I # 3.6 5.2 5.8 6.9 5.9 6.9 9.2 7.1
74 I 3.8 5.6 4.4 5.3 7.7 9.8 8.4 3.7
il B & 9 1.7 2.4 1.6 0.9 1.9 4.0 2.8 2.2
b % 2.1 3.3 2.9 1.7 3.2 6.1 5.3 2.6
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(FHEEH)
124 1/ 24 34 e B E K F I T
— ke Al B 3110 9% 63 37 21X10 ° 37 34X 10 12
N 7 B 5 6 4 1 29 | Bliwd 5 12
W FEIv AR BZEOAD — <0.0003 — F— <0.0003 4
KB R XZ o EWD —— | <0.00005 — —— | <0.00005 4
T Ly RV ZETOAEYW @ — <0.001 — — <0.001 4
i) SO VN A | Ee— <0.001 — — <0.001 4
EE KT oA W — <0.001 — — <0.001 4
N oM s v A b & W —— <0.005 — — <0.005 4
iR B e = R 0.021 0.032 0.013 <0.004 0.070 <0.004 0.015 12
VI AA YV R ALY T —— <0.001 — —— <0.001 4
WHMEZZEROHBHBEZE 0.9 0.8 1.0 0.9 1.0 0.2 0.6 12
T EZ RO ZoOED 0.12 0.11 0.16 0.14 0.18 0.11 0.14 12
AUV FRKRTZEONHEDY 0.2 0.2 0.2 1
7g by it Jo4 ES — <0.0002 — — <0.0002 4
1 .4 - v F % ¥ v — <0.005 — — <0.005 4
VA-1,2-Y7muoxF Ly
Kk RETv A—-1.2-V/anxF L <0.004 <0.004 1
Y J v oa Ay — <0.002 — — <0.002 4
S NI 7 mu=x F L — <0.001 — —— <0.001 4
Y YV mu x F Lo — <0.001 — — <0.001 4
~ v ¥ v — <0.001 — — <0.001 4
i B [
Vi =) = e [
/A= R . 2
Y 7 v v B
Y 7 v E /uu R
R # i
AN .
/A= =
J u % Yy aonrH v
A = D S )
K v A F ) F b K
LI SO a2l | = | E— <0.1 — — <0.1 4
TNVI=o L R OZDlED 0.05 0.14 0.09 0.11 0.58 0.05 0.16 12
B Kk X ZF 0O vt A& W 0.06 0.13 0.06 0.05 0.38 0.05 0.10 12
Mk N F o kAW — <0.1 — — <0.1 4
FTRITDAEBZOAED 15 20 21 22 24 12 21.1 12
<~V H KR ZORED 0.019 0.011 0.006 <0.005 0.181 <0.005 0.021 12
b A/ B G N 21 29 36 35 36 16 30.7 12
Hh NV U A, =T Fyy A% 54 64 60 60 70 50 63.2 12
& B 7 %7 ] I — — 147 — 147 9 124.3 4
fe 4 A& v F O iE A <0.02 1
53 &
Y o=z 4 2 3 g 15 0.000004 0.000002 0.000003 8
b % —— | 0.000002 —— | 0.000002
| =
i Py A ;- ZL}V j /i & s 0.000003 | <0.000001 0.000001 8
D # —— | <0.000001 —— | <0.000001
A A R om I A <0.002 1
7 x ) — 3 H <0.0005 1
. 54 = 2.1 1.9 1.8 1.8
2%%#—;«% ﬁ; e 15 1.9 1.8 1.8 1.5 2.6 1.5 2.0 49
b % 2.0 1.9 1.8 1.6
74 i 7.9 8.0 7.9 8.0
P H 18 | 5% liis 7.6 7.6 7.7 7.6 9.2 7.4 7.9 341
¥ % 7.7 7.8 7.8 7.8
e
5 K| BERL RERL RERL YN [ 341
& = 8.2 5.8 3.8 4.2
@, B | % 1K 5.6 3.9 3.3 3.3 12 3.3 5.8 341
b # 6.8 1.6 3.5 3.7
& = 3.6 3.4 2.7 2.2
) B | &% {iS 2.2 1.9 1.5 1.1 9.8 0.9 3.0 341
N ¥ 2.9 2.7 2.0 1.6
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MARKE KK GtBt)
4A 54 6A 7R 84 9A 10H 114
% = 19.2 24.7 26.5 31.2 31.5 27.1 22.8 16.0
RO QR FEHE)| & 1% 8.5 16.7 19.5 24.3 26.8 19.2 10.9 6.9
F # 15.2 20.6 22.9 29.3 29.3 23.6 17.6 11.3
474 & 10.9 16.7 22.2 27.2 28.1 2.7 21.0 15.7
K IR fie iS 8.5 11.2 16.7 22.2 24.6 20.7 15.4 11.6
¥ ¥ 9.8 13.8 19.9 23.9 26.3 24.4 18.4 13.9
474 & 276 272 277 262 264 264 276 201
R B8 RE 1% 264 257 246 234 203 233 163 174
T ) 271 265 266 248 230 247 234 187
TVvIEvROZDOILEY <0.002
vy RkRUVEOLEGY 0.0006
Sy T VRO EDOIE Y <0.002
1.2=-Y 7 mo=x &y <0004 e e <0.0004 e <0.0004 o
k v = v <0.04 e e <0.04 e <0.04 o
TELVBEY Q- F L AF ) <0.008
v/uwu7kh=hrY
Wk 7 m 7 = N
g e 1% B — 1.1 0.7  —— 1.6 <0.1 — 3.1
1.1, 1-hFYVZ7mpm=x iy <0.03  —  — <0.03  — — <0.03 —
FEN =T F T - TN <0.002 _— _— <0.002 —_— _— <0.002
W Bovn vmnyosmaw) 2.4 5.3 6.5 6.9 6.9 6.4 7.4 6.5
HoO% M & ( TON )
B e (7Y 7Y T8 ) E— -0.7 —_— E— -0.3 —_— e -1.1
e’ x££ M
1. 1-vYZmpuo=xzF v <0.01  —  — <0.01  — — <0.01 —
S S 1.8
[ El @ — 1.3 0.8 — 1.8 <0.1  —— 3.5
7 Jv 7 ) iq e 64.0 62.2 — 64.5 54.8 — 48.9
W o B OE ( o ) o 10.1 8.8 — 7.7 8.1 — 9.5
B 0 Dl — 1.3 0.9 e 1.2 1.2 e 1.0
w oy v (T — P) S 0.02 <0.02 — <0.02 <0.02 — 0.02
Vv @AA4A vy (POy) o <0.02 <0.02 — <0.02 <0.02 — 0.05
w2 £ (T -N)| — 0.7 0.8 e 1.2 0.2 — 1.1
7} # B R "5 o — 2.2 2.2 e 2.4 1.9 e 2.9
E I L 0.245
4 /) 2,030
T v ® =7 B OE E <0.02 0.07 0.07 <0.02 <0.02 <0.02 0.14 <0.02
1.1.2=-FYyzZzmm=x | <0.0006 — — <0.0006 — — <0.0006 —
MU o~ 2 F v A R RE 0.048
70V 7 MARY Y UL — | B iy —
e < 0 #F R e 0 e 0
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(&2 AR E A fh)

121 1 21 3H 54 m | % |7 7) #
K = 10.5 11.4 9.9 16.0
RO (LH S| 5 & 3.7 0.3 0.6 5.3 315 0.3 16.2 365
F ¥ 6.1 4.0 4.3 10.4
bid 7 11.6 6.6 6.2 9.8
US |5 1% 6.6 4.2 3.6 6.0 28.1 3.6 14.7 341
o % 8.7 5.5 4.4 8.1
b4 & 236 247 255 261
EEAE Y - W Y 1% 199 228 234 195 277 163 240 341
¥ # 218 239 246 229
T/vFIE/ RO ZO0AEY <0.002 1
77Uk OEONED 0.0006 0.0006 0.0006 1
=y TV EDZEDOWEDY <0.002 1
1,.2-Y 7mnm =y —— <0.0004  —  — <0.0004 4
h v T | — <0.04 —_— o <0.04 4
THENBEY Q- F L ~F V) <0.008 1
v/uwn7k®h=rI N
f.oox 7 v 7 =
Ui i 174 [ 3.5 — 3.4 4.7 4.7 <0.1 2.3 8
1.1, 1-N)V 7=y —— <0.03  —  — <0.03 4
IV AT F VT =T N — <0.002 _ —_ <0.002
HHEW (B-vn vmar om0 6.8 5.7 6.4 5.9 7.4 2.4 6.1 12
2% wm E ( TON ) 0
AW (T XY T EK)| — — -0.9 e -0.3 -1.1 -0.8 4
eoom ok #& M 0
1.1 -y ZpprxzF Ly —— <0.01 o  — <0.01 4
S S| —— 1.3 —_— e 1.8 1.3 1.6 2
1% E 4.0 — 3.9 5.3 5.3 <0.1 2.6 8
7 Nz Vil ) E 49.5 e 55.0 61.0 64.5 48.9 57.5 8
W 1 B £ (D O ) 9.8  — 12 11 12 7.7 9.5 8
B 0 D 1.5 1.0 1.5 L5 0.9 1.2 8
#w v v (T — P) 0.02 <0.02 0.02 0.02 <0.02 <0.02 8
U@ A4+ Yy (POy) 0.03 e 0.02 <0.02 0.05 <0.02 <0.02 8
wo#® £ (T — N) 1.0 e 1.0 1.7 1.7 <0.2 0.9 8
i # (3 R & 2.5 — 2.2 1.6 2.9 1.6 2.2 8
E I S A 0.234 — — 0.245 0.234 0.240 2
A wm — 1,600 —_— o 2,030 1,600 1,815 2
Ty E =7 K OE K <0.02 0.09 <0.02 <0.02 0.14 <0.02 0.03 12
l1.1.2=-h YRSV —— <0.0006 e — <0.0006 4
(AN - B S S SO o 15 0.048 1
70U 7 FA2ARY Y U A ijarneas 2
oo % F ROH 1 —  — 0 1 0 0.3 4
Ny s BIRS 5, 215 DR OVRHS 7 B
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MEFKE HBK

Hitffi(mg/0) 45 54 64 74 8A 94 104
— it il 10084 F 0 0 0 0 0 0 0
N 15 i [rttesnmoce B RIE R R BT BT Rl
BRIy A kO Z oA W 0.0030LF <0.0003 <0.0003 <0.0003
KB K O Z ok A& l0.0005F <0.00005 <0.00005 <0.00005
U vk O Z0AE BT <0.001 <0.001 £0.001
kO F o A BloodF <0.001 <0.001 <0.001
E#E R E oA BoolE €0.001 €0.001 £0.001
AN 7 v A b A W 0.058TF <0.005 <0.005 £0.005
di i B R E  F|0.04MUT <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
vIvAL A4y R O ALY TV 0.01LF <0.001 <0.001 <0.001
AR RE % E R OOV RN AR RE E E| LOUT 0.7 0.6 0.5 0.5 0.4 0.2 0.4
7y F kO ZE 0L A W08 T 0.14 0.13 0.13 0.13 0.13 0.15 0.16
AU E KT Z oA LT 0.2
Mk B F|0.00280F <0.0002 €0.0002 <0.0002
1 4 - ¥V & % % /005UF <0.005 <0.005 €0.005
VA-l,2-V/mrrxF LY N
T e LA <0.004 <0.004 <0.004
Y 7 m ow A& 0028 F <0.002 <0.002 <0.002
F NJ 7 muxF L 00T <0.001 £0.001 <0.001
KD 7 v x F L 001LF <0.001 £0.001 <0.001
~ v + V1 0.014F <0.001 <0.001 <0.001
iz} # B2l 0.600 T <0.06 <0.06 0.06 0.08 <0.06 0.14 0.21
Vi =} =i HE 12| 0.020LF — <0.002 <0.002
7/ v wm kv A0.06F <0.006 0.010 0.015
Y 7 o w  EEEE0.03LT — 0.004 0.007
Y 7 B E® JaaAX 0T <0.01 £0.01 <0.01
5 # 7 0.010LF — <0.001 <0.001 — —
Wb U N g A E 0T 0.011 0.029 0.035
bV 7 v v HEOEE0.038T — £0.003 0.005
J 8 E Y /7 nBaaAF 0030UF 0.004 0.010 0.014
7 v kK v A|0.098F <0.009 <0.009 <0.009
A v A T VT b Fl0.088LF — £0.008 <0.008
o kO E ok A W LT <0.1 0.1 0.1
TVI=TA K O Z 0L AW 02T 0.05 0.05 0.10 0.09 0.10 0.17 0.06
kO 2 o A& Blo3F <0.03 £0.03 <0.03 £0.03 <0.03 <0.03 <0.03
S Kk O 2 o b A W LOUTF <0.1 <0.1 <0.1
FTRU T AR O ZE O A W 2000 26 26 25 26 24 25 25
<~ AR ZE O A B 0.05LTF <0.005 £0.005 <0.005 £0.005 <0.005 <0.005 <0.005
Btk WM A A U 200UTF 37 33 39 40 34 36 11
ANy A% R vy hCE| 3000 70 69 69 69 68 63 71
7% % % e ¥ 50020 F — 103 136
B A4 4 v R om 3E % Al 02T <0.02
& i
YV oz F 2 I Vg f&[0.00001 L1 F
T 7 ——| 0.000003] _ 0.000002}  0.000004| _ 0.000002 ——| 0.000003
|5 ‘.%
i N }*%Z[bj /1// £ {g[ooooor 5 F
*F % ——| 0.000001]  0.000002f  0.000002| <0.000001 ——| 0.000003
F A4 4 v R om & % A 0.028F <0.002
7 = ) = ) HEl00UTF <0.0005
| T o 1.0 1.2 1.3 1.4 1.4 1.5 1.4
fmfé (qum(,é% K| 3Lt F 0.9 1.0 1.2 1.3 1.2 1.4 1.3
T # 1.0 L1 1.3 1.4 1.3 1.5 1.4
74 & 7.6 7.6 7.8 7.7 7.6 7.6 7.7
P H (=453 1%]5.8~8.6 7.4 7.4 7.3 7.2 6.9 7.4 7.3
F* %) 7.5 7.5 7.6 7.4 7.3 7.5 1.5
VS RETRNCL RERL O RERL ORERL O RERL R OB EEAL
b A RERL O RERL O RERL O REARL R BEARL] EEAL
b4 = 0.5 0.4 0.5 0.6 0.5 1.2 0.8
JE | %] SEELLT 0.3 0.2 0.2 0.2 0.2 0.2 0.3
F b2 0.3 0.3 0.3 0.4 0.3 0.5 0.5
5 & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
] 4553 &l 20T <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
ha % <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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1211 14 2f 3A b5 E I HE %
— i bl 0 0 0 0 0 12
N 15 Bt B B R B 12
W EIT AR VBZOLEY — <0.0003 <0.0003 4
K, E XZE O EWY ——|  <0.00005 <0.0005 4
tL kO ZOAEY — <0.001 <0.001 4
ok O ZE 0 ik AW — <0.001 <0.001 4
E EF K LT O EY — <0.001 <0.001 4
AN A = T U A= /| <0.005 <0.005 1
My B e &= R <0.004 <0.004 <0.004 <0.004 <0.004 12
VIvAE AL K IRV Ty — <0.001 <0.001 4
WM RE A R N VLAY R RE EH 0.9 0.8 1.1 0.8 1.1 0.2 0.6 12
7 v E KX ZETONAEY 0.10 0.10 0.15 0.12 0.16 0.10 0.13 12
TR DPZONEY 0.2 0.2 0.2 1
g By it 1% B — <0.0002 <0.0002 4
1 . 4 = vV F % ¥ v — <0.005 <0.005 4
YV A—-1,2-YZuunxF Ly
¥k ORbrFv A=-1.2-V/ponxF Ly <0.004 <0.004 1
A - - A — <0.002 <0.002 4
T N7 /7 mmoxF L — <0.001 <0.001 4
kU 7 e x F LoV — <0.001 <0.001 4
~ v + v — <0.001 <0.001 4
picy # fig <0.06 <0.06 <0.06 <0.06 0.21 <0.06 <0.06 12
7 =i o £ fig <0.002 — <0.002 4
Vi =R ) A — <0.006 0.015 <0.006 0.008 4
Y 7 v oo FEOEg 0.005 — 0.008 0.004 0.006 4
DAVAR-IE AN A — <0.01 <0.01 4
= e fig <0.001 — <0.001 4
Wb U N m A — 0.014 0.035 0.011 0.022 4
/AN - S - 0.004 — 0.009 <0.003 0.005 4
Ju ® Y 7 uana AL — 0.006 0.014 0.004 0.008 4
A =T R N 2N — <0.009 <0.009 4
B Vv A T v F B R <0.008 — <0.008 4
g b ZE ok &Y — <0.1 <0.1 4
TVIz9 Ak O ZDEY <0.02 <0.02 0.02 0.05 0.17 <0.02 0.06 12
% kK O 0o kAW <0.03 <0.03 <0.03 <0.03 <0.03 12
il K X ZF o v &Y — <0.1 <0.1 4
T RID AR E DAY 16 22 22 24 26 14 23 12
<~V H RO ZEDEY <0.005 <0.005 <0.005 <0.005 <0.005 12
B M 4 F 25 35 42 40 42 20 36 12
RN Y EYVEN 52 60 58 58 71 52 63 12
7K g 34 e} L) 230 — 230 103 149 4
B A A4 v H om iE Al <0.02 1
854 =)
Yoz 4 A I U 1% 0.000004|  0.000002]  0.000003 7
DA % ——| 0.000002 ——| 0.000002
e =
i w:fﬁf ;E‘r 1K 0.000003|  <0.000001]  0.000001 7
o % ——|  <0.000001 ——|  <0.000001
F A A v K m T A <0.002 1
7 = /) = ) ¥ <0.0005 1
e | B = 1.3 1.3 1.2 1.3
Eﬁ%ﬁﬁ (ffm @g e 15 1.1 1.3 1.2 1.1 1.5 0.9 1.3 49
b % 1.3 1.3 1.2 1.2
I & 7.5 7.6 7.6 7.6
P H AR5 & 7.3 7.4 7.4 7.3 7.8 6.9 7.4 342
I ) 7.4 7.5 7.5 7.5
S FEARL] O WEARLL O WERL] WERL RERL 342
R = L7l LA B B B 342
Eiz & 0.6 0.7 0.6 0.5
& FE 1% 0.3 0.3 0.3 0.2 1.2 0.2 0.4 342
i ¥ 0.4 0.5 0.4 0.3
I & <0.1 <0.1 <0.1 0.1
1) B & <0.1 0.1 0.1 0.1 <0.1 0.1 0.1 342
b % <0.1 <0.1 <0.1 <0.1
¢ RINGS, 21 S ORI IR &, i
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MmEFKE 58K

H 1 fE(mg/ 0)
. 44 5H 64 7H 8H 9H 104 11H
b4 & 19.2 24.7 26.5 31.2 315 27.1 22.8 16.0
OB (LAFEHME)| 5 1% 8.5 16.7 19.5 24.3 26.8 19.2 10.9 6.9
- % 15.2 20.6 22.9 29.3 29.3 23.6 17.6 11.3
54 & 11.5 16.9 22.5 26.3 28.7 21.7 21.3 16.1
K |5 % 8.7 11.6 17.3 22.7 25.1 20.8 15.4 11.6
< % 10.3 14.2 20.2 24.3 26.5 24.4 18.5 13.9
74 & 286 282 295 283 282 279 291 212
EOR B8 g 1% 268 273 261 249 220 255 176 171
* # 282 278 284 264 248 267 247 197
& & 1.1 1.1 1.2 1.3 1.4 1.4 1.5 1.2
BB B e i 0.8 0.6 0.7 0.9 0.8 0.9 0.9 0.8
¥ % 0.9 0.9 0.9 1.1 1.1 1.1 1.2 1.0
54 & 1.0 1.0 1.2 1.2 1.3 1.3 1.4 1.1
B R R & 1o 0.7 0.5 0.6 0.7 0.7 0.8 0.8 0.7
< % 0.8 0.8 0.8 1.0 1.0 1.0 1.1 0.9
TvFEEY RO ZE DA A B0.028LF €0.002
A SO OW (AR R €0.0002
=y vk OE 0L A B0.028F €0.002
1.2-vY 7uana=x % 0004F <0.0004 <0.0004 <0.0004 —
I 2 T V04T <0.04 <0.04 <0.04 —
THENEY Q- F b ~F v )0.088LF <0.008
vrmu7 k=Y Moo  — <0.001 0.001 0.001
ok 7 owv 7 = Moo — €0.002 0.005 <0.002
i3 i 174 | 2000 F 3.0 3.1
1.1.1=-MYV 27 osulF <0.03 <0.03 <0.03 —
FFNV =7 F V= T V0.02LF <0.002 <0.002 <0.002 —_—
HHW aevr vmnrumn w)|300TF 2.3 1.8 2.8 2.3 2.4 3.1 2.2 2.4
ROo& W OE ( TON [T 2
a7y 50T R &)1~ -0.9 -1.4
eOB % E M 2,00081 T 0 0 —
1.1=-vYZ7uvuoxF L 01T <0.01 <0.01 <0.01 e
ik i - 3.4 3.5
7 v Vil ] i3 - 61.0 45.5
7 v o® =7 B B & - <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
1.1,.2-FYy 7wz - <0.0006 <0.0006 <0.0006 —
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(&2 FAETE E )

12H 1A 21 3A 854 11854 1K) BmE ¥
54 = 10.5 11.4 9.9 16.0
AOR O BCEYME) | & 15 3.7 0.3 0.6 5.3 31.5 0.3 16.2 365
I ¥ 6.1 4.0 4.3 10.4
3 =] 11.7 6.6 6.3 10.1
K 1| 1& 6.7 4.2 3.6 6.3 28.7 3.6 15.0 342
F ¥%) 8.7 5.5 4.6 8.3
54 = 243 257 265 272
wOR B R 15 207 244 217 205 295 171 253 342
F ¥%) 227 251 256 240
54 =] 1.1 1.1 1.2 1.2
053 ® bic # LI5S 0.8 0.8 0.6 1.0 1.5 0.6 1.0 342
E % 0.9 0.9 1.0 1.1
54 =] 1.0 0.9 1.1 1.2
W B o #EE 15 0.7 0.7 0.5 0.9 1.4 0.5 0.9 342
°F ) 0.8 0.8 0.9 1.0
TvFEV R O DAY <0.002 1
77 vk NZEONL AW <0.0002 1
=y TNV R TEOILEY <0.002 1
1,.2-vY Znmnmr=x Xy —_ <0.0004 E— E— <0.0004 4
k IV T N _ <0.04 _— _— <0.04 4
TANLNEBEY Q- ZF L ~F ) <0.008 1
Y umuwu7 khr=rI L e D <0.001 _ 0.001 <0.001 <0.001 4
wok 7 v 53 — N — S <0.002 e 0.005 <0.002 <0.002 4
ifE At 7% iz _ _ 4.9 e 4.9 3.0 3.7 3
1.1, 1-hMVZumnm=x X —_— <0.03 E— E— <0.03 4
AFN =T F VT = TN _ <0.002 E— E— <0.002 4
B Ga~vn vmavosmn &) 2.9 2.5 3.1 2.6 3.1 1.8 2.5 12
BO&K ® & ( TON ) 2 1
B (T AU T ) —_ _— -1.4 —_— -0.9 -1.4 -1.2 3
oo X & M H —_— 0 E— E— 0 3
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